#5208 Z4UL—h—=s L HIA -2 2025/05/11 R HEF AR
ks Tz
BB 4 =M A7 T R Bt FLER AT VefE £
ExiidEil =4k B e Rag 4 =4cmibe BBt
B+ G Azl 1AL 24iL 3{ir 44 54L 64iL THE 8{iL
asamsz | sAA L00m -3 W) 15.70 (H1.9)[ 0 FERA) 15.75 (+1.9)[HL)5 =27/R(4) 16.04 (+1.9[/\AEE () 16.05 (+1.9)[ B H @) 16.23 (+1.9) B #15 @) 16.54 (+1.9)[HIH EKPE(4) 16.71 (+H1.9)| & AT KAH4) 17.27 (+1.9)
F27 ZARAC F27 ARAC F7 ARNAC WEYa=T FIARAC FIARAC PWEVa=T FURL A 7R-C
5A11H 400m AT K@) 2:57.24[HTH  ZKEE@4) 2:58.10[#0%5 Z£IR4) 3:04.39|dLJ SEVR@4) 3:07.49|(HF —H@) 3:10.39[ AT F () 3:15.21|HE PR @) 3:17.23| - HoK@) 3:17.24
MYIL T TR-C PREY2=T MY AL TRC FIARAC HIRDFE~TI T PRE Y a=T PREY a=T PREYa=T
st | sAia L00m INBR BB A (5) 14.72 H1.0)[75 8 ZI&6) 14.84 (+1.0)[ =18 AL GB) 14.92 F1.0)[Z5 H HEAEG5) 16.25 H1.O)| &A1 B2H5) 15.40 +1.O)|= T MEHLG) 15.40 (+1.0)[ 30 BE3}(5) 15.47 H1L.O)|FE D K GB) 15.87 (+1.0)
EMT&F TIRVEE=TIITT EX DEES Bt Vet FIARAC FIARAC PREY2=T Y T L ERCHTEBS
_— 1500m 0 BEsHG) 5:00.52| 78 Z1%(6) 5:13.95| Mg BEG) 5:33.03| )1l | 1ER%G) 5:54.63| PR G5) 5:57.16| T #hAKG) 6:03.72| 2= 50 #7(5) 6:05.21| & 18 H5A(5) 6:13.23
PRE D 2=T GR| TR DE~TI 5T TRV =TI 5T =RVa=T PRE D 2=T MY A TR-C MYV A TRC =RVa=T
e T L00m hE BEKe) 13.05 +1.O)|ZHE {H4:6) 13.59 (+1.0)| EAS 1&5(6) 13.62 (+1.0)| (LR #24:(6) 13.77 G1.O)| B 1 B2:(6) 13.96 +1.O)|)IIAf  RefiE(6) 14.10 +1.0)|[FA%5 F=EA6) 14.57 (+1.0)[ A<M #&54(6) 14.58 (+1.0)
P RA T LERCOJAS PR T VERCHIE MY -IA L TRC MYV A JTR-C MHB SR Va=T MYV -IA L TRC RizeAC
5A11H 1500m =B AH6) 5:04.45|) 1[I §1(6) 5:10.05[A<f#] 1552(6) 5:18.97|@itE HEPI6) 5:19.87|F13% FEEAG6) 5:23.43[5h L TEHE) 5:26.30| & 7%5(6) 5:30.41|%%4 BEXE) 5:31.99
PREY 2=T PREY =T RizeAC TRDE=TI T MYRL - TATR-C PRE Y a=T PREY =T HRAE~TIITT
WEYa=T 58.01| =5a=7A 1:00.43| LR D =TV 75T 1:01.22| %7 ZFAC B 1:01.51 &Y ==7 1:03.62| *7 ARAC C 1:03.90| *Z ARAC A 1:04.37| =4V =2=7B 1:05.09
I ACH6) Al FZ6) #%E VERE) E3 5 NGT6)) i () BRI KFG) B FIE@) [ IPREO)
ANESRY 7| 5A11H 4x100mR W 756) eI ONO) 5 ZIK6) BRIl BEHG) EiZ N A(O) [SL- RPN 30N NC)) s HRAEG)
1HK FEI6) HA-E IKE6) s EPI6) PEl SRAEG) i WIH6) A KE6) RW f#6) % ALAG)
JIIEE #1(6) JIAS RefiE6) JEE] FHA6) BT HEHG) =F 1ZKHI6) THE WEA@) I AhbE©) JIE IERG)
SA1LE - i Kifi6) 421 HLD)EAR FK6) 412 (+0.8)|45 H A=) 3.80 H.D| R KFa6) w3.75 (+2.4)|8a K 5 FH(6) w3.65 (+2.4)|/I\bk 1E A= (5) 3.63 (+2.0)[ 41l FnZ=(6) w3.62 (+4.2)| ik HEFE(6) 3.58 (+0.3)
RizeAC AU -AJR-C S&Va=T FIARAC YL A7R-C ET&F S&Va=T R T&F
s 7 5A11H L00m M REQ) wi1.00 G2.7)| TR #iE3) w11.28 (+2.7)| 2l KFHEB) wi1.30 +2.7)| HH BIR3) wi1.42 F2.7)|48)1] 1&E(3) wi1.48 (+2.7)|#% HHIKE) wl1.57 F2.7)| & jik(3) wi1.72 (2. 7)| /B[] FFEEQ) w11.88 (+2.7)
=4 RizeAC YR T LE L 92 ARC BE - /BT PREJHSRC k- ZEp FREJHSRC RizeAC
5H11H 100m T HEQ) 53.91(E[H FFFEQ) 56.54|% % k() 56.58| ik Fnik(3) 56.65|1% )11 15EL(3) 56.71 |k FE(©) 57.23| i JEIEER) 58.16(KE M () 58.50
RizeAC RizeAC PREZJHSRC =5 PREZJHSRC I ARAC MHB RizeAC
SH1LH 1500 2 A GPNG)] 4:35.11|43F AN Q@) 4:35.65( i & 1FI(3) 4:38.52|1)11 B2 A(3) 4:39.10[47% {H##2) 4:41.55[ [ FH#4RQ@) 4:54.05|150  Ei=H(1) 4:56.46|NE UHSH2) 4:56.49
PREEJHSRC A7 L2 T LE Ly ARC EE Y i =G AR =S — B PREZJHSRC AT L E L 92 ARC
SHiLn 5000m S 1N0) 9:47.35|3616 A K(G) 9:57.10|fiti 5 {£IRI(3) 10:19.12| 5% —IRQ2) 10:21.58| i F5(2) 10:24.07| T E5EBQ) 10:28.97|Fn#F  A0N3) 10:33.26 |1 FE(1) 10:52.83
FRTEE T AEL Y7 ARC PREEJHSRC =X T ] YREEJHSRC YREEJHSRC =r I Bk A TIRAE~TIHTT
I omb EIP N 6)) wi5.81 (+4. 1|5 1EH3) wi16.07 +4. 1A Z=(Q2) w16.22 (+H4.1)| K 2 KHIG) wi17.10 (+4. DA Il 2eZ5(2) wi18.21 (+4.1)|HBF  #i30(3) w18.25 (+4.1)|[E 1L #4(3) w1871 (+4.1)| W6 IKEL(2) w18.73 (+4.4)
= At BN RizeAC R IRAKAC PR T AL I ARC =4 ST A E LY ARC =t I ]
=4 45.99| =4 46.20| %7 ARAC A 46.55|#- #er 472401 - /N TR 47.72|RizeAC 48.43| =55 KikF#[5 () 48.44| - /Nt rp 50.00
TRHE FEKG) gk HZEQ3) FH 2 /NG SEIE(2) Al Ei3) HhH E2E3) KB KEG) JINRE #(3)
5A11H 4x100mR B REOG) SV =(6)) b XC)) bk SRHRE3) K B5B) BT ZEA) A #E252) A HEH3)
Mk HEB) At JESF(3) KA ) WCF #HG) B EBHG) JEM Q) A PN [) AW BEEG)
K BEAEQ) HE SZREG) R Q) HI K@) HH PIRE) JEVE] FREQ) [ = B5=HG3) )l HR=(3)
A — PN P N[0 1.65|B8 KFE®) 1.60| K HKHi2) 1.55[[6 = B5=H(3) 1.45[/1bk i (2) 1.45|E 5 AR(3) 1.45|3F1% Q@) 1.40[ g FHEER) 1.40
RIFRAKAC ST F7ARAC = IPN (e (G B3y i Er P /T Bk /T
_— - AL PRIEQ) w6.03 (+2.9)[ ikl KAN(E) w5.81 (+4. D[R £M3) w5.72 (+2.9)JF | SEFH2) wh.22 (+4.6)| A fHEH2) 5.07 F1.D[HLH A Z23) 4.97 F1.5)| Bk IEHB(D) wa.91 (+4.0)| 1 FHREQ) 4.87 (+1.2)
=4 nk- ZEr T ARAC FIARAC FZARAC RizeAC PR T AEL v I ARC SR ARRRE
SHLh . K %213) 9.77| BRI FEHREQ) 9.26|Eiff SARR(3) 9.23| 75k HEKE) 8.04[fEE —HQ) 799 Al pETHIR) 1.82|EHF #AQ) 7.48%5)11 FEAQ) 7.34
RizeAC S Q) | hnjk- ZE S e Sk B /N =5 Kiks B () SR AR RSET
P R L00m HE KI 10.75 +2.0)[ K P Btk 10.84 (+2.0))I1 5 FHK 10.96 (+2.0)| Fit-J& B 10.99 +2.0)| A i 11.10 (+2.0)| il #iH(6) 11.23 G2.0)| N 1L & E@4) 11.25 G2.0)| A [EHh 11.32 (+2.0)
FIARAC GR| ¥ HTFC TEAMKOS TGNSPIRITS MHB Bk ERLPN TEAMKOS
. 100m GIIEPN | 51.65|54F #M=(2) 51.72|FHJII #T-@) 52.25 % fH— 52.90|/Mk ZEK(1) 53.80| %11 £ 5445|185 K HEST 55.06[taA% 2fH2) 56.24
ALS OK# &) el i 2 ER/EPN BrBAC IHARAC RAC MHB BHE R
5H11H 1500m PHOEE@) 4:43.14| &)1 B 4:51.82
PPN =Ztibel
5A11H 5000m




A4t uE 14 26L 3L 4fi 5L 64T The 8fir
ALSOKHE 43.29|EMAC 44.46| e % 50.64
EE LT i iE L #R@)
5H11H 4x100mR SR R LR #K iy Q)
BN A FI Ll SR EQ2)
GIIRPN i} BAS SRORER Bfs — (1)
5A11H - K& B 1.80|#E 2 A i 1.55
Mertikitt MHB
SH ., B ik w6.89 (+2.8)|Fkin reE w6.45 (+7.5)| 3 | 5 w6.24 (+3.8)| LA FE3- w6.19 (+3.2)| 4[] ZhR(6) w5.83 (+3.3)| A iy w5.20 (H12.2) 5% Ak 4.91 (+2.0)[ 1Ly FHK w2.87 (+3.1),
team$E3 team 3l = il MHB FRI PN MHB EAC MHB
TR B (3) 11.88|f % A 1.21|FE ok 10.24) A4 FERG) 9.33
5H11H fia fu#
FORU AR MHB + BT TR HORL AR
NS L00m ANbR B AE(4) w16.02 (+3.3)| il Alie(4) wi16.51 (+3.3)| =1 #E-1-(4) w16.63 (+3.3)| AR A5 HL(4) wi7.10 3.3)[F H #() wi17.43 +3.3)[H |k #E3E@) w17.92 3.3 Hifk 157 () wi17.93 (+3.3)| A% HH(@) w18.04 (+3.3),
EMT&F =4Va=T MY =7 Iy 2=7 WEY2=T MY 2=7 MY =7 MYV -7 TRC
. 800 bR B AE(4) 2:52.12|5)11 BIALA) 3:01.09| = #@) 3:01.60| K% FHM) 3:19.09
EMT&F FJ ARAC PREY 2=T MYV -TATRC
eswsr | sA1A L00m P W E1XG) 15.16 1.9\ MLEG) 15.66 (+1.4)[LLIH  F14%(5) 16.04 (+1.4)[J5L #EERG) 16.30 (+1.4)| 5 EHEG) 16.42 +1.4)| KA F2kL() 16.45 (+H1.9)| 1% 742(5) 16.48 (+1.4)| 5 B51-(5) 16.81 (+1.4)
HRAE=RTIITT HRDFE=TIITT WEYa=T FIARAC F7 ARAC F R T L E RCHIE B DEEYS Y b o 7L ERCHIBBS
5A11H 800m ek WLEG) 2:48.85| 48N W\ E&1EGB) 2:50.94| £ FEEAG) 2:54.98|1LIH H14x(5) 3:00.14| 5 EIEG) 3:01.54|J5 §5EKG) 3:03.86| 1L WG) 3:05.02|GHT % 1#G) 3.05.95
TRV =TI 5T TR E~=TI 5T RizeAC PREY =T K ARAC FIARAC TRV =TI 5T TRV AE=TI 5T
et | sA1m L00m B #5H 6) 14.70 (+0.3)| A<[H] L (6) 14.90 (+0.3)| 3% BET4(6) 14.96 (+0.3)| % H 77 (6) 15.09 (+0.3)| A[H] %t T4 (6) 15.12 (+0.3)| A3 42 (6) 15.14 (+0.3)|gH A LEE) 15.20 (+0.3)| i EFL6) 15.37 (+0.3),
RMT&F MHB P& 7L ERC AL RizeAC MHB H ATV ERC B MYV FR-C MHB
SHin 200 JigE £526) 2:43.92[85 A LMEE) 2:53.08| 13 #EAL(6) 2:53.62|843 Jifl6) 3:02.58| 2% 7Kk(6) 3:06.64(E1% BET4(6) 3:11.55 4B %K (6) 3:12.01| 1% ZEHRG6) 3:12.26
MHB YR -IA T R-C PR T VERC Bk I ARAC WEY 2=T P TLVERC AL Y £ 7 L ERCHTEBRS WEL2=T
MHB 59.38|INE Y a=T 1:01.35| TR D E~TV L 75T 1:03.57| &y 2=7 1:09.44| =55V a=T 1:09.82
ENEREES() W FKE6) e EG) = ET() ek ine@)
NEALE L 5H11A 4x100mR A #T5(6) L% SKRE) W O EIEG) HE H37506) T 137 ()
i EHE) W s46) PP} 3 H6) AR FFH@) e 6)
ENTEINIEH(O) Ki% ZRHE6) i) Briw A&7 @) FejE 22(6)
A — g %) 3.81(0.0) Py ZEEE) 3.62 F1.7)|HME B 3ETH6) 3.36 (+0.7)| K% EfH(6) 3.28 (+1.5)[#h #IR(E) 2.98 (+0.4)| {1} 3 x fEG) 2.96 (F1.D|FER BZEE6) w2.87 2. 7)| B3I T#6) 2.80 (+1.2)
MHB MYV -TATR-C MY 2=7 WEa=T MHB TIRDE=TI 5T FIARAC MYRV -7 TRC
S . L00m EI ) 12.89 (+1.2)| K H5(3) 12.94 (+1.2)| 3 EELIRQ) 12.97 +1.2)| g #EFER) 13.03 +1.2)| 3K HE(3) 13.05 +1.2)| - ZE5E) 1310 1.2l b ZE4:(D) 1311 1.2l kA E00) 13.28 (+1.2)
BIFIRARAC HRHINARAC RizeAC RIFIRAKAC R HINAKAC Mgy 2=7 RFFIRALAC EFFIRAKAC
5H11H 200m KiE HHG) 27.09 (H1.8)|B4FH: EFQ) 27.56 (+1.8)|4H 3 BRLIZR(Q2) 27.62 (H1.8) AT HxW) 28.04 (+1.8)|H H AHHLB) 28.30 (+1.8)|1H/K FH(1) w28.45 (+3.1)[ /MR b B w29.60 3. D['EFE HEQ) 29.66 (+1.8)
A RARAC SLFf PR RizeAC g Gk F - bk PRI T AL v 7 ARC Yy AT AEL v 7 ARC MHB
- S00m RE 0) 2:24 84 {FHiE FEQ) 2:30.72|/FH #5@) 2:32.12| 5% ZRQ) 2:33.65[32H A7 7(3) 2:39.88[H % 1-(2) 2:42. 72| Z5(1) 2:43.48|FE ML) 2:46.84
e digrp FAH - A L AT H YREZJHSRC PREEJHSRC PREZJHSRC FHIRWE~TI 5T g a=7
A 1500 HEF EAKE) 5:20.31[3EH  H7R7(3) 5:23.31|4=H Q) 5:29.05[5 2% 1-(2) 5:31.33| = B53KG) 5:36.18[ V£ JFREK(3) 5:45.59| & H PIH2) 6:38.49
PREZJHSRC PREZJHSRC FA B PREZJHSRC RizeAC RizeAC =% FHP
5A11H L00mH FKIE Q) w14.30 (+4.5)| 1L H ZEAE(1) w14.79 (+4.5)| il fEE(3) w15.03 (+4.5)[ 7kt HEQ3) w15.14 (+4.5)/ Bpis LEARR(3) w15.73 (+4.5)| % Bl x (2) w16.01 (+4.5)| KA 01 w16.33 (+3.0)| = £ AQB) w16.44 (+3.0)
BRIFIRARAC HRHINARAC EEFIRAAC R FHIRAKAC R HINAKAC HRHIRAKAC HEHIRAKAC Bk /TR
HRIFIRAKAC 50.55(4 k7 £ i 7L w2 ARC 52.32|#1ik-/FTH 55.67| &y ==7 56.88( =5+ K[z (1) 57.03 - /Nt 57.46| =55 Ak S5 1:01.09
AR HEB) OHl HHEE) e Z212) L 0h) JIE ZE7Q +H EKE) sl 252
5110 4x100mR P ) EH HRE) EE G R AR IR HEHE) =i ERE) W RS
rhly HEEER) bt 7enix@) KE HHEE) HHES R T5(1) ANBR I Q2) ®H AR A 1K)
KiE 550) K FE®D R RAR) R AhAE() % Bx(Q) B HETH(2) Ve ABZR(3)
SH — Nk £61) 1.30| 75 e fEA(3) 1.20[%5 H #5Fn@) 12035 #G) 1.15
TRAESRTII5T Y7 T L E Ly ARC =4k FHH ER RN
_— - TH Z5Q) 4.75 (+0.6)| /N8 %k H (3) 4.32 (+1.2)|1L)E HEG) 429 H1.4[FEE EQ) 4.29 (F1.3)[/Ibk HHZER) 4.21 0| HA AR 4.04 (+0.8)| & H EnFE(D 3.65 (H1.A| 1L EHES) 3.53 (+1.9)
MY 2=7 PR T AL v ARC AT A E Ly ARC e S et IS TLE L v ARC MY 2=7 H R ST LE L v ARC g e rh g ()
SH11E o ER WEE) 11.04 e Z2) 9.32|FE 8 HUAR) 8.83[FLA BT() 8.83|/\EF B 0(3) 8.71|75ME HEA(B) 8.20|2 E7(Q) 8.03[HH NELEB) 7.68
BE. AR B /N B /N =5 SLIff- R YR TLE L 92 ARC Bk AE =5
PR L00m A ErZz() 13.38 (+0.6)| LB pFEF| 13.97 (+0.6)| ki 24(6) 1413 GO.B)|[ A &3> 14.64 (+0.6),
ER/PN F2 ZRAC ERL PN RMAC
AR 100m R @) 1:04.21

ERIEPN




B+ i 4] 14z 24 3L ZIVA 5{L 64L ™ 84iL
E RPN 52.23
ki 2HAKE)
5110 4x100mR A BZ=()
R @)
(== ()
o ek stk 1.30
5110 Ak
E RPN
5H11H - R =) 4.59 (+1.2)|H P BETE 4.32 (+H1.2)| 1L H kR 3.85 H1.A|MA 9 h> 3.67 (+1.5)
I
E RPN FIARAC Herh % EAC
ARH LT 9.80| 41 fE 7.98| 41l Q) 6.87|)R &7 4.91
5A11H (R L
TR REAT Merp =5kl

GR:K&FEk wiBEB %5




